
a}=kmf=174

bfloTj ?= ?= ;DklQ ?= ?=

1= a}lsé clkm;df gf]^ df}Hbft 7,075,833,594   1= ljb]zL d"b|f / ;]So"l/^L 419,277,770,000

2= rng rNtLdf /x]sf] gf]^ 412,201,936,406

hDdf lgisflzt gf]^ 419,277,770,000

hDdf bfloTj 419,277,770,000   hDdf ;DklQ 419,277,770,000

OSjL^L tyf bfloTj ?= ;DklQ ?=
1 d"nwg 3,000,000,000   1  gf]^ 7,075,833,594
2 ;fwf/)f hu]*f sf]if 23,734,999,885   2  /]RsL -
3 df}lb|s bfloTj sf]if 4,197,513,998   3  ljb]zL d"b|f 21,362,979,105
4 ljsf; sf]ifx? 18,951,258,991   4  ljb]zL a}+s df}Hbft 102,143,976,019
5 #=;f=p= ljsf; sf]if -   5  P;=*L=cf/= ;+lrtL 5,320,712
6 ;^xL ;lds/)f sf]if 82,574,493,607   6  ljb]zL a)* 132,954,715,381
7 ;"grf¤bL ;lds/)f sf]if 10,188,767,853   7  vl/b / l*:sfp)^ u/]sf] ljn
8 ;]So"l/^L k"g/d"Nof+sg sf]if (4,911,901)      -s_ :jb]zL 118,484,023
9 lgIf]k      -v_ ljb]zL 265,675
   -s_ g]kfn ;/sf/ 194,672,047,992   8  nufgL
   -v_ afl)fHo a}°x? 167,085,336,652      s= ljb]zL ;]So"l/^L 266,005,103,817
   -u_ ljz]if lgIf]k 2,000,000,000      v= g]kfn ;/sf/sf] ;]So"l/^L 43,733,523,973
   -#_ cGo 40,934,307,605      u= ljQLo / ;+:yfgx?sf] ;]So"l/^L 3,448,571,870
10 e"QmfgL lbg"kg]{ lan 432,948,952      #= l/kf] ljb]zL -
11 g]=/f=a}= C)fkq lx;fa 31,481,675,000      ª= cGo ;+:yfgx?sf] ;]So"l/^L 31,000,000
12 l/e;{l/kf] ;]So"l/^L jfktsf] bfloTj -   9  shf{ / ;fk^
13 P;=*L=cf/= af¤*kmf¤* 9,848,291,609      s= g]kfn ;/sf/nfO{ -
14 cGo bfloTj 33,463,312,237      v= jfl)fHo a}+sx?nfO{ 8,611,512,601

     u= ljQLo ;+:yfx?nfO{ 1,075,997,772
     #= :yfoL t/ntf ;"lawf -
     ª= cGo shf{ / ;fk^ 4,269,855,848
  10 ;"g df}Hbft 1,440,620,220
  11= cGo ;DklQ 30,282,281,871

hDdf OSjL^L tyf bfloTj 622,560,042,481   hDdf ;DklQ 622,560,042,481
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